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Name : { }

Class : Primasy6/

Math Teacher:

Date : 20 024

INSTRUCTIONS TO CANDIDATES

r————

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DOSO.

FOLLOW ALL NSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.

SHADE YOUR ANSWERS (N THE ORTICAL ANSWER SHEET {OAS) PROVIDED.

YOU ARE NOT ALLOWED TO USE A CALCULATOR.
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. ‘Questlons 1 to 10 can'y't mark each Questions 1 1 to y -1 carryz marks each :.'-. , "
For" eéach question, four opfions. are given. . One-of them Is the comect answer

""Makeyourcm«;em 2, 3or4) Shademeoonectoval (1.2, 3 or 4) on the

Ophcal AnswerSheet - . o (20 marks)

1. - Find the value of 4 hundreds +5 tenths + 6 fHousandihs,.

)

@ 400508

@)

(1
(2)
(3)
4

450006

400.560
400.056 -

 Which pair of lines in the square grid is perpendicular?

A B
/‘
\\ c
E i

ABand ED
AF and FE£
BCand CD
DC and FE
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"3 The beskers below contain somewater. -

'What is the total volume of water in both beakers? B |

(N

@

(3)
{4)

- .450mi

“530ml
12 250 mi
1£ 300mi

How many of the following ﬁgurés-have exactly two lines of symmetry?

<O

" Square’ Parallelogram  Circle Rectangle
(i 1
@ 2
$3) 3
(4 4

5. There are 40 siudents in a class. 16 of them are Chinese and the rest are Malays.

What is the rafio of the number of Malay students to the tetal number of students?

1)
(2)
(3)
4)

3:2
3:5
2:3

5:3

page 20f 6
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el The pie graph showsthe number ofmarb!esm foar-ﬁcixss. labslled A, B; Cand D.

CORN @
Number ] ;

of
marbles .

Number
of
marbles

@ ' T @

Number
of
marbles

Nuinber
of -
marbles

7. A machine can fill up 45 botiles In 2 minutes. At this rate, how many botties can the
machine fill up in 1 hour?
(13 90
{2) 1350
(3} 2250
{4) 5400

page 3 of 6




8.  Whatis thevalue of 30 + 60007,

10,

(1)

@
(3)

4

"
200
005
0.005

Arrange these voltiinés-ffom the smalfest fo the greatest.

(1)
(2)
@)

(4)

aze 4¢305ml , 4352
Smallest | . Greatest
435¢ ., 4exsml 43¢
42305mt |,  A35¢ als |
2£305m a3 ,  435¢
a3  435¢ ., 4r305ml

The quatter circle has a radius of 20 cm.

20 cm

What is the perimeter of the quarter clrcie? Taken=3.14

(1)
@)
(3)
(4)

314cm
55,7 om
Tt4cm |

1256 cm

page 4 of 6
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, At 12 noon Afan and Jacob ran along a 9-km trae&mopposﬁe d'rec’aon A!an met
.. Jacob when Alan completed 4 km-of the track. J_ambimk 45 mmut&e to oompfete

the enttre track. At what time did they meet?

(1) 1220 p.m.

@ 1224pm.
(3 1225pm.
@ 12.30 pm. )

. The ﬁgure below shows the dtﬁerent views. of @ same oube A d{fferent shape is

prinied on.each face of ihe cube.

a7 %
o 1% Ua 05[

The netof the cube is shown below. Only the shape on one of the faces of the
cube is shawn an the net.

A

Which of the following shape is represented by the letter A7

h =
2y 0O
@ o
(40 o

page 5 of 6
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COA numbeumen divided by 20 gives a remamder of 9. : IR
- Which ofme follcwmg can be, added to the number to change lt to a multtple af 59 B

_ (1)' R
{3 5
@ 3

The figure below is made up of a rectangle and-a iriangle. 52'; of the rectangle

1 -,
and z ofthg&*iangle'isshaded. |

What fraction of the figure is shaded?

M
@
@ 5
@ =

A 1
There wene some children at a camival. 3 of the boys and 2 of the girls went for a

ride. 4 dHihe children who went for the ride were girls. What fraction of the

children went for the ride?
1

M) 3
8

2y 3

n L

(3} 12
g

1
(4 r
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PEI CHUN PUBLIC SCHOOL.
PRELIMINARY EXAMINATION; 2024
 MATHEMATICS -
 PAPER1

(BOOKLETB)

Total Time For Booklets A& B : 1 haur

Name : ' ¢ )

Class : Primary 6/

Math Teacher:

Date ; 28 August 2024

INSTRUCHONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTH YOU ARE TOLD TODC SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALE QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.
WRITE YOUR ANSWERS (N THIS BOOKLET.

USE A DARK BLUE OR BLACK BALLPOINT PEN TQ WRITE YOUR ANSWERS IN THE SPACE
PROVIDED FOR EACH QUESTION.

O NOT USE CORRECTION FLUID/TAPE OR HIGHLIGHTERS.
YOU ARE NOT ALLOWED TO USE A CALCULATOR.
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' Donotwilt
“Questions 16 to 20 carry 1 mark each. Wnte your answers in the spaces prowded : inthisspac -
.For questmns Wthh reqmre umts gweyour answers mthe units stated ' (5 marks}. S PR

16. - ExpreSS 17asa pércentage.

Answer : . %

17. Find the value of =+8.
Give your answer as a frachion in the snmplest form.

Answer:

18. indra had - kg of white meand kg of brown rice. What was the total mass of rice
Indra’ had'? Give your answer as a mixed number in the simplest form

Answer:. __° kg

19. A pen costs $0.45. Vvhat is the total cost of 80 such pens? )

AnsWer: %

MA / P8/ Prelim / 2024 Page 1 0f 7 {Go on to the next page)



20. _Some unit cubes are used to form Soiid X as shown.
-~ Howmany unit cubes are used ta form SolidX? . ...

~Sofigx L

Answer:

| Questions 21 to 30 carry 2 marks each. Show your working clearly and write your answers
in the spaces provided. For questions which require unts, give your answers in the units
sfated. , (20 marks)

21.  Thetable below shows the results of a survey.

Boys Girls

Number of children who 27 14
can cycle

Number of children who

cannot cycle 13 26

What fraction of the children can cycle?
Answer:
MA / PE [ Prelim / 2024 Page 2 of 7 (Go on tu the next page)

BP-715

Bio nat wril:

| inthis spac.
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Do not writ
in this spac

| e m———

22. A flask was filled with 1 .05 Lof water. 250 mi ofw%r was poured out from the
= ‘ﬂask How many htres orf water was Ieft in theﬂask’? e
- Answer. S
23. '_ ' The average of 3 numbers is 38. One of the numbers is p.
Find the average of the oﬂuer two numbers. Leave your answer in ferms of p.
Answer:
24. The shaded triangle below is drawn on a 1-cm square grid.
What is the area of the shaded triangle?
1cm
D —
1cm
Answer: cm?
SCORE
{Go on te the next page)




25. A rectangular tank is 16 om long and 10 cm wide. It contams 24! of water when ft fS
IR fdf ful! Whar is the helght ofthe. tank? .
3 _ Wem
- 16 cm '
Answer: cm
26.  Atailor makes 8 shirls and 5 blouses. She sews 6 red buttons on each shirf and
4 green buttons on each blouse,
Colour of buttons | Numbaer of buttonsinabox |  Price perbox
’ Red 5 ’ $1.35
Green 4 $2.20
Waat is the least amount of money she has to pay for the all the red and green
buftons she needs?
Answer: %
MA / £6 / Peolim / 2024

Page 4 of 7
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' — : Do not wiib
- '27. *, Refer to the square grid below and answer.the questions. - - L in this spac

>

{a) Which point is south-west of Point D?

Answer : (a)

(b) In which direction is Point B from Paint D?

Answer : {b}

28, There are 20 ribbons and 12 strings in a box. .
The total length of the rbbons is equal fo the total length of the strings. -
Each string is 10 cm longer than each ribbon. What is the length of a ribbon?

Answer; cm

MA [ PE  Prelim / 2024 ' Page 5of7 {Go on fo the next page)



29, -~ "Timhad an equal number of red and. biuesﬁckers He gave 51 red stndcers and Y

27 blue strckers to John. He gave the rest ofthe’ stickers to Hiram.:
~Hiram had a5 many red stickers as biie stickers. o
: How many stlckers did Tim give to eram?

Answer:

MA / P8/ Prelim / 2024 Page G ol 7 {Go on to the next page)
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o o -Do mtw§t- .
©.30. . n the square grtd betow a square JKLM has been drawn o nisspac -
LM foriie one ‘side ofa ’mangle JMA Camplete the drawmg of mangleJMA Such - |
. thatme araa-of JMA | 15 thearea of JKLM Tnangle JMA does ol owrlap wnth the]
' :square JKLM.© -

E£nd of Paper

MA / PB / Prelim/ 2024 Page 7 of 7
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PEI CHUN PUBLIC SCHOOL
 PRELIMINARY EXAMINATION, 2024

MATHEMATICS

PAPER2
Time: 1 h 30 min

Paper 1

{Bookiet A) 20
Narme . (' } Paper r
Class : Primary 6/ {Bm B} 25
Math Teacher: . Paper 2 55
Date :_20 August 2024 . TOTAL . 400

Parent's Signature:

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE 10LD TO DO 50.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALl QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.
WRITE YOUR ANSWERS IN THIS BOQOKLET.

USE A DARK BLUE OR BLACK BALLPOINT PEN TO WRITE YOUR ANSWERS IN THE SPACE
PROVIDED FOR EACH QUESTION.

DO NOT USE CORRECTION FLUIDITARE OR HIGHLIBHTERS.

THE USE OF AN APPROVED CALCULATOR IS ALLOWED.
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" Questions t'ta 5 carry 2 marks each. Show your working clearty and write your answers

in the spaces provided. For questions which require units, give your answers in the units

Coostated. L cr

{10 marks)
" 4. " CED and GEH are straight lines. ZCEH = 126°.
Find LDEF. ' ' - :
e H
Answer: °
2. In the television guide shown below, one programme leads to another without any
break in between. :
Start time ~ Programme
09 30 Cartoon
10 10 News
1140 . Sports
12 30 Music
(a} Ming turned onthe television at 11 Q0.
Which programme was being shown then?
Answer - (3}
) How long did the Sports programme fast?
Answer : (b) min

MA / P6/ Prelim f 2024 : Page 10f 15 (Go on to the next page)
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A tank was = f” iled wrth water at 13 0(} The fine graph shows the volume of water
' left ln the tank c-vera penod of 2 hours. - - ‘ :

1209'\" .
. '10.9 :x\’ _

Volume 80 \\ —t

. of I : \\

water oo L . : .

- leftin . . S
thetank - ' ‘ : ‘ '
. - 20 . : - : . p
0 : s
1300 1330 14 00 1430 15 G0

Time

At the end of 2 hours, what fraction of the tank was filled with water?
Give your answer in its simplest form.

Answer:

BP-723
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. The pamphlet below shows the rent charges of a function room. -

" "'SMA‘LL Room' 1T

'MEDIUM ROOM |

" LARGE ROOM

1 WAPPY.HOURS _ §i2-
’ 12p.m.ho‘fprn perhour

1[ HAPPY HOURS - '$14
12p.m. o7 paL perhour -

‘HAPPY HOURS ~ $15
©Z p.m 0 Topm  per hour

PEAKHOURS $18
Topm 1040 p.m.  perhour

PEAK HOURS $19 -

7 p.m. o 10 pm. permur"

PEAK HOURS s22
7pmipt0pm  perhour

BP~724

. Do not'wite' ©
. mlhvsspace :

S

- A.lason and four of hls fnends rented a medium room from 5 p m. to 8 p m.
: How much did each nfthem have to pay‘?

Answer: $

5. A group of 5§ boys booked a badminton court for 3 hours and took tumns to ptay.
Atany time, there were 4 boys playing on the court.’
On average, how long did each boy play on the court?
Leave your answer in minutes.

Answer: min

L

MA / 6 / Prefim / 2024 Page 3 of 15 (Go on to the next page)



‘For questions 6 o 1? show your wmkmg clearly and.write. your- answers in the spaces

e ."prcwded The number of marks ava:fable is sfmm m brackets [
- _questmn or part—questlon 5 ‘ :

1 atfhe end of eagh
(45 rnarks)

B, Tnangte ABC and ECD are eqwfaterai tnangles BCD, AGD and BGE are straight

lines. .ﬁEDA 36°and LDAC = ﬁDBE Find Zm.

A

Answer;

BP-~725
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7. ABCD isa rhornbus and ABEF is atrapezmm ABis parallet to EF LCBG 29" " { Do not write
e and LBFE 66" BDF lsa stralght hne Fmd ABEF LT

] inthis:space

Answer: . [3]

MA / P6/ Prelim / 2024 Page 5 of 15 {Go onio the next page)



' 8. ;A ruler costs mcents and a pen casts: 70 _ce'nt_s more thana rler.

(a}

(b}

What's the.cost of 1 pen and 2 rers in cents?
-Express your answer in terms of n7in its simplest form.

Answer: (a) | [1]

Xin Min wants to buy 1 pen and 2 rulers but is short of 15 cents.
The ruler costs 80 cents. How much money does Xin Min have?

Answer: (b) f2]

BP-727
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9. Tank A and Tank B are fwo rectangular tanks. Tank A contains some waterand - . -

.. Tank B is emply. When some walers poured from TankA to Tank B, the height - | in tis space
. of the water in Tank A decreases by Som while-the height of water in Tank8 - -]
" increases by 8 om. The base areaof Tank A is 15 cm? greater than the base area
of Tank B. Whatls the volume of water that is poured from Tank AintoTank B?
Tank A S ' “Tank B
Answer: {3)

MA/PG/Prelim/ 2024 Page 7 of 15 (Go o o the next page)



10, Ata camp, thereis.an equal number of boys and gir's. The children are grouped
- into! Gmup A andGraup B. In: Group A, the ratic of the number- of boys tathe
el number of gifls is’ 1. 3 En Group B, the ratio of the numberof buys to the number
" ,.-ufglris:ssz ' o o . :

{a} - _What is the ratio of the number ofcheldren in GrcupA fo the number of
' chlldren in Gmup B‘? : _

 Answer: (a) - [

{b} There are a total of 2574 children at the camp.
How many boys are there in Group B?

Answer: (b} [3i

BP~729

| Do not writs

in this space
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. 11 -. A'musical storé utfered 80 pianos at a?".i%-d‘iscqqﬁt d;j[mas-dasi_s'alé, o
"+ . The line graphi shows the numbet of pianos left Unsold atthe enid of each day. -

80 —
\\\
. — 1
... 80 — . — :
Number of 1 \\ —
‘Number . . B :
planos left 40 T -
unsold - -
20
\ ]
0 + . : — - |
.Startof - Day 1 Day2 - Day3 . “Day4 Day5
sale : . : ‘ ' : —

(a) What percentage of the pianos were sold in the first two days of the sale?

Answer: (a) ' E-ﬂ

{h) Duying the éale, the discounted price of the piano was $735. After the sale,
the remaining pianas were sald without discount. What was the iotal

armount of money collected from selling all the 80 pianos?

BP~730

.08 not write

in this space, -

Answer: (b) [3]

MA IDR | Dralira ¢ A4 Pace ¢ of 15 {Go on ta the next pace)
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12, Thepie chart stiows the dlfferenttgpes of fruit sold.at a stall fast. manth o 60' et it
.. The shop sold 800 fruits in total.” Half of the fm:ts soid were oranges. - “’ U s spacs, -
The shop sold 40° more apptes mmpears e S o

(a) How many durians did the shop sefl?

Answer: (a) i1l

(b} What percentage of the fruits sold last month were pears?

Answer: (b) [3]

MA [ P8/ Prelim f 2024 ' Page 16 of 15 {Go on to the next narat
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. '1'3__ [ntheﬁgufe below.ABCD isa paralleiogram EnsapomtonAB and EDFnsa .D;._ﬁbt-:wﬁte'_,'f )
o stralghttlne Z.BAD 137°, AEDA 18‘and LDCF=15°‘ ST | irpq"f!saﬁamji'..:'»--,:_

=

(@  Find £ZBED.

Answer: (a) 4]

(b)  Find ZCFD.

Answer: (b) : (2}

[ —
L

MA PR { Prafim / 7024 ) Page 11of 15 {Go on to the next page)
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14 il hada rolt of laca, . He used = of the Iaae fo. make 15 szmﬂar blouses and .| Dot wite

. . in this space - -
T srmnfar skirts. The’ Iength of the lace used fors btouses was the same as ihe' S
Iength of the !ace used for 3 sk[rts S . :

{a) How many skirts can he make with the same Fength of lace used for
15 sum:far b!ouses‘? :

Answer: (a) [11

' - 5 ..
1) What is the greatest number of skirts he can make with 3 of the remaining
laca?

Answer: (b} f31

MA.f PS J Prefim / 2024 ) Page 12 of 15 {Go on to the next paae}




15,

Flgure X and Figure Y. below is made up of identical nght-ang!ed tnang!es

The. penmetamfF’gure X is. 46 cm, The penmeter ofF’gweY is 96 cm .

BP-~734

| Donctwite - .
 Inthis space - -

"~ The Iength of AB s 17 cm. .
O -
B
© Figwe X ) . Figure Y
{a) What is the length of CD?
Answer: (a) -1
{D) What is the area of 1 right-angled triangle?
Answer: {b) i3}
A I DR ! Oealim | 9094 Paaa 13 0f 15 {Ga on 10 the next naoe)
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16. - Joseph has some red ‘biue arid orange beads. 28% ‘of the beads are btue

- There are. 25 more bhie beads than orange beads There were 289 red beads 3;: T i s - -

{a‘}' - How Enany blue beads‘ére ﬂtére-a!togéthéf?

Answer: (a) {2

(b} After Joseph bought more bive beads, the percentage of blue beads
Increased to 64%. How many blue beads did he buy?

Answesr: (b) (3]

MA PG ] Prefim 1 2024 Page 14 of 15 (Go on to the next page}
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17. " The figure is made up of 5 identical quartergirdes. . pooeture
?
(a) - Find the radius of a quarter circle.
Answer: (2) 21
() Find the perimeter of the figure. Take = = 3.14,
Round your answer to the nearest 1 decimat place.
Answer: (b} (2]
End of Paper : 1
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_ YEAR .

: 2024

" LEVEL

. TERM ' : PRELIMS .

"BOOKLET B
Q16) 170%

3 3 1 1
)8 6 8x6 16
3 4 11
Q18) “ 4. -1
) 2ts=15ke

Q19) 0.45 x 80 = $36
Q20) 18 .

Q21) &

Q22) 1.05L-025L=0.8L

38x3-p_1HM-p
2 T2

Q23)

Q24) Areaofsqguare=5x4=20
Area of unshaded area =-;-x4x 2 +§x 4x1+§x5 x2=11

Area of shaded area = 20~ 11 = Scm2

'PRIMARY 6 -
_ - SCHOOL: PEICHUN PUBLIC SCHOOL
- - SUBIECT : MATHEMATICS - - .
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. Q25) 40004 160=25em

. 'Q26). Box of Red Button > 48 £5=8R3~9

Box of Green Button 20 +4=5
' 10x1.35+5x2.20= 524.50

Q@7 a)A

. b)West

Q28) 20 r=12s .

s=r+10 .
12s=12r+120
20r=12r 3320
- 8r=120
r=15cm

Q29) 3units > 51- _27 =24
Zunits > {(24+3)x 7 =56

> 12 cm?

Q30) AAJM

. -
" e

. BP-740



PAPER2

a1

Q)

@)

Q4)

as)

Q6)

)
Qs)

Qs)

Q10)

£DEF=126-90=36°"

(14x2)+19=47
47 +5=$9.40

Ix4

h =2.4f= 144 min

LABC=68

2BAD =180-36 - 60 =84
2DAC=/DBE =84-60=24
£m=180-36— 24 = 120°

£ABF = /BFE = £FRC
LFBE = 66-29 = 37
£BEF = 180 - 37 66 = 77°

a) (3m+70)¢
"b) 3(80¢) + 70¢ =310¢

310¢ - 15¢ =295¢ = $2.95
Difference > 8—5 =3
Volume > 15x5=75
(cm) Difference <> 75 +3=25
Volume poured = 25 x 8 = 200cn3

a)

Group A Group B

B8:G Diff B:G Diff
13 2u 5:2 3u
3:8. #&u 10:4 6u

BP-741




GroupA' Group B -
34-9 1o+4 L
g7
b)Totalunlt-)12+14 36 T
o 1unit>2574+26=99
10umt-)990

‘Q:l_:l).a) ;—f;_:x:;po%:#s%' ' '_ ._ '
b)75% > 735 )
100% > 980

L

(735x72)+(8x-98m—*52919+?a40=5507so' e

Q12) a)8x17=136
b) { 800 — 400~ 136 — 40 ) + 2=112
112

500 % 100% 14%

Q13) a) LDEA+180~155=25
/BED=180-25=155°
b) 2GD4 =180~ 137 = 43
. LCPE=43-18=25
' LCDF =180.-35 = 155
LCFD=180~1F5—15+=10° -

' Q14) a) 5b = 3s, 15b = 9 skirts
b)8u—>9+7=16
5u = (16:8)x5 =10
' Q15) 2) 91~ 17x4=28
28+4=T7cm

BP-742
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BME2=23 R \
- '-fnenght(m Base(sm LT
H=B+7 L B
| 23=H+B
23¥H+u;?'
30=H.
CH=1s .
- 23=15+ 8
B=8 |
Area of triapgle =2 x8x15 =60 cm?
lQ:lG) a)B->28U,0- 2.8U-25, R =289
289-25=264
4.4u-» 264
u-> 60
2.8u-> 168
b}No.ofréd‘angonange-)zsxs-i-ZSQ 438
30% of bead =» 432
1% ofbeads <> 432 :36=12.
64% of beads > 12 x 64 = 768
Blue bead ->» 768 — 168 = 600
Q17) a)13+7+13 =33
8+8=16
33~16=17cm
b} Curved line > x 3.14x17 x 2 = 133.45

Straightline > 17 x5+13x2+7+8x2=134

Perimeter 3 134 + 133.45= 267.45cm

5

End
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